
 

Task 1 – Given that 
𝑎 = 5 

𝑏 = 3 

𝑐 = 2 

𝑑 = 1 

𝑒 = 4 

Work out the value of: 

1) 𝑎 + 4 = 5 + 4 = 𝟗 

2) 9𝑏 = 9(3) = 𝟐𝟕 

3) 𝑐 − 10 = 2 − 10 = −𝟖 

4) 𝑑 + 2 = 1 + 2 = 𝟑 

5) 3𝑒 = 3(4) = 𝟏𝟐 

6) 𝑎 + 𝑏 + 𝑐 = 5 + 3 + 2 = 𝟏𝟎 

7) 𝑐 + 𝑑 + 𝑒 = 2 + 1 + 4 = 𝟕 

8) 𝑎 − 𝑐 = 5 − 2 = 𝟑 

9) 10 − 𝑑 = 10 − 1 = 𝟗 

10) ଶ଴

௔
=

ଶ଴

ହ
= 𝟒 

11) ௘

ହ
=

𝟒

𝟓
 

12) ௖

ଶ
=

ଶ

ଶ
= 𝟏 

13) 𝑎ଶ = 5ଶ = 𝟐𝟓 

14) 𝑏ଷ = 3ଷ = 𝟐𝟕 

15) √𝑒 = √4 = 𝟐 

16) ௔

ௗ
=

ହ

ଵ
= 𝟓 

17) √𝑑 + 𝑏 = √1 + 3 = 𝟒 

18) ௔௘

ଵ଴
=

ହ×ସ

ଵ଴
=

ଶ଴

ଵ଴
= 𝟐 

19) 𝑎𝑏 + 𝑐𝑑 = (5 × 3) + (2 × 1) = 15 + 2 = 𝟏𝟕 

20) 𝑎𝑏𝑒 ÷ 𝑐 = (5 × 3 × 4) ÷ 2 = 60 ÷ 2 = 𝟑𝟎 

 

Task 2 – Given that 
𝑣 = 12 

𝑤 = 10 

𝑥 = 1 

𝑦 = 0.5 

𝑧 = −2 

Work out the value of: 

21) 𝑣 + 6 = 12 + 6 = 𝟏𝟖 

22) ଺଴௬

ହ
=

଺଴×଴.ହ

ହ
=

ଷ଴

ହ
= 𝟔 

23) 6𝑦 + 3 = 6(0.5) + 3 = 𝟔 

24) 𝑥 + 𝑦 + 𝑧 = 1 + 0.5 + (−2) = −𝟎. 𝟓 

25) 3𝑧 − 9 = 3(−2) − 9 = −𝟏𝟓 

26) 12 − 𝑦𝑧 = 12 − (0.5 × −2) = 𝟏𝟑 

27) 2𝑤 − 5 = 2(10) − 5 = 𝟏𝟓 

28) 10𝑦 − 9 = 10(0.5) − 9 = −𝟒 

29) 4𝑥 + 1 = 4(1) + 1 = 𝟓 

30) 2𝑣ଶ = 2 × (12)ଶ = 𝟐𝟖𝟖 

31) (𝑦𝑧)ଶ = (0.5 × −2)ଶ = (−1)ଶ = 𝟏 

32) ௪
௬

=
ଵ଴

଴.ହ
= 𝟐𝟎 

33) ௩
ଷ

+ 8 =
ଵଶ

ଷ
+ 8 = 𝟏𝟐 

34) 𝑣𝑤 ÷ 𝑧 = (12 × 10) ÷ (−2) = −𝟔𝟎 

35) ଵଶଶି௫

ଵଵ
=

ଵଶଶିଵ

ଵଵ
= 𝟏𝟏 

36) ௪ି௭

ସ
=

ଵ଴ିିଶ

ସ
= 𝟑  

37) (𝑦 − 𝑧)ଷ = (0.5 − −2)ଷ = 𝟏𝟓. 𝟔𝟐𝟓 

38) 𝑥𝑦𝑧 = 1 × 0.5 × −2 = −𝟏 

39) 3(𝑥 + 7) = 3(1 + 7) = 𝟐𝟒 

40) 2(𝑦 − 7) + 10 = 2(0.5 − 7) + 10 = −𝟑 
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Task 3 

41) Given that  𝑎 = 7𝑏 + 4 
Work out the value of 𝑎 when 𝑏 = −2 
𝑎 = 7(−2) + 4 

    = −14 + 4 

    =  −𝟏𝟎 

 
42) Given that 𝑥 = 4 and 𝑦 = 8 

Work out the value of 9𝑥 + 2𝑦 
9(4) + 2(8) 

= 36 + 16 

= 𝟓𝟐 

 

43) Given that 𝑝 = 12 − 3𝑞  
Work out the value of 𝑝 when 𝑞 = 5 
𝑝 = 12 − 3(5) 

   = 12 − 15 

  = −𝟑 

 

44) Given that 𝑚 = 3𝑛 − 10 
Work out the value of 𝑚 when 𝑛 = −4 
𝑚 = 3(−4) − 10 

     =  −12 − 10 

    =  −𝟐𝟐 

 

45) Given that 𝑣 = 𝑢 + 𝑎𝑡 
Work out the value of 𝑣 when, 

𝑢 = 10 
𝑎 = 2 
𝑡 = 5 

𝑣 = 10 + 2(5) 

   = 10 + 10 

 = 𝟐𝟎 
 

46) Given that 𝑙 = 4𝑛 + 2𝑘  
Work out the value of 𝑙 when 𝑛 = 6 and  
𝑘 = −3 
𝑙 = 4(6) + 2(−3) 
     = 24 − 6 
     = 𝟏𝟖 

 

 

47) Given that 𝑥 = 2𝑦 − 𝑧 
Work out the value of 𝑥 when, 

𝑦 = −9 
𝑧 = −12 

𝑥 = 2(−9) − −12 
    = −18 + 12 
    =  −𝟔 
 

48) Given that 𝑢 = 𝑣 − 2𝑧 
Work out the value of 𝑢 when 𝑣 = 10 and 
𝑧 = −4 
𝑢 = 10 − 2(−4) 

   = 10 + 8 

  = 𝟏𝟖 

 
49) Given that 𝑟 = 6(𝑠 + 3) 

Work out the value of 𝑟 when 𝑠 = −5 
𝑟 = 6(−5 + 3) 

   = 6(−2) 

   = −𝟏𝟐 

 
50) Given that 𝑡 =

௥

௦
  

Work out the value of 𝑡 when 𝑟 = −72 and 
𝑠 =

ଵ

ସ
 

𝑡 = −
72

ቀ
1
4

ቁ
 

   = −𝟐𝟖𝟖 

 

51) Given that 𝑘 = 5𝑚ଶ − 1 
Work out the value of 𝑘 when 𝑚 = −6 
𝑘 = 5(−6)ଶ − 1 

    = 5(36) − 1 

    = 180 − 1 

    = 𝟏𝟕𝟗 

 

52) Given that 𝑐 = 2𝑑ଷ + 7  
Work out the value of 𝑐 when 𝑑 = 4  
𝑐 = 2(4)ଷ + 7 

   = 2(64) + 7 

   = 128 + 7 

   = 𝟏𝟑𝟓 
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53) Given that 𝑦 =  

ଷ௫ିଶ௭

௫ା௭
 

Work out the value of 𝑦 when 𝑥 = 8 and 
𝑧 = −2 

𝑦 =
3(8) − 2(−2)

8 + (−2)
 

   =
24 + 4

6
 

   =
28

6
 

   =
𝟏𝟒

𝟑
 

 

54) Given that 𝑛 = 4𝑝ଶ − 6𝑞 
Work out the value of 𝑛 when 𝑝 = −5 and 
𝑞 = −3 
𝑛 = 4(−5)ଶ − 6(−3) 

    = 4(25) − (−18) 

    = 100 + 18 

    = 𝟏𝟏𝟖   

 

55) Given that 𝑤 = (𝑎 + 2𝑏)ଶ − 3𝑎𝑏 
Work out the value of 𝑤 when 𝑎 = −4 and 
𝑏 = 7 

𝑤 = ൫−4 + 2(7)൯
ଶ

− 3(−4)(7) 

    = 10ଶ + 84 

   = 100 + 84 

    = 𝟏𝟖𝟒 

 

56) Given that 𝑎 = √𝑏𝑐𝑑 
Work out the value of 𝑎 when 𝑏 = 3, 𝑐 = 4 
and 𝑑 = 12 
𝑎 = √3 × 4 × 12 
   = √144 
   = 𝟏𝟐 
 
 
 
 
 
 
 
 

 

57) Given that 𝑑 =
ଶ௘ିଵ଴

௙మି √௚య  

Work out the value of 𝑑 when, 
𝑒 = 13 
𝑓 = 12 
𝑔 = 8 

Give your answer as a fraction in simplest 
form. 

𝑑 =
2(13) − 10

12ଶ − √8
య  

    =
26 − 10

144 − 2
 

   = ଵ଺

ଵସଶ
 

    =
𝟖

𝟕𝟏
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